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a—F i Sk PER (kg) w48 () = i o S PE Hh (BAL)
V3002 =# () I 18| 17,258 | 1,728 1,404 356 | B PN 18kg |
31900 AX 1 3,143 864 864 540 | BN 4kg B
34100 #A/N 6 10, 260 540|540 540 | B/ 9%
34200 A/ 38 6,977 184] 184 184 | B 38kg |
Y3033 | ZEAAL 150 16, 092 162 97 54| B A 150kg |
Y3044 HL2E(H) 36 3, 154 108 108 65 B 36kg |
Y3030 WL () 2 3,456 1,728 1,728 1,728 BN 2kg ]
36340 &L RAEIE 5 2,268 | 454 454 454 | B Skg
71011 | R 75 16,308 281 270 270 | B 60T
71030 K+ F 3,775 38 27 11| B 1484
71032 KI5 EF (F) B 3,413 | 59 11 11BN 190K
71150 LiE . B 1,625 76 76 28N 28k
21160 BE (%) 2, 700 54| 43 13| BHA 60K k|
71161 fE (&) 2,808 32 11 11BN 240K v b |
71286 Za—HL 5, 022 167 167 167 | B 304 '
Y5004 &4 15 8,910 | 594 594 594 | BN 15kg B
V3048 T v ¥ 3 v 7 2,894 432 400 400 | B Tkg

130100 7T A oL 10 2, 160 216 216 216 | T 10K o
30100 72V A L 100 20, 628 216 205 205 | % 7% 100K
¥3090 A5 M 14 1,711 36 36 36 FER 48
30300 A% L 60 6,480 1,080 1,080 1,080 JcifEi 64— A
30400 TIF 5 20 6,156  3,456| 3,456 2,700 H7F 25—
31100 B M 75 8,316 1,836| 1,620 1,620 REA 5 —2
33810 FHHE 5, 400 2, 700 2,700 2,700 | EIRE 24—
33810 FHHFE 2,592 130 130 130 |FEIR S 204%

Y5005 & KEAN 1,534 1,534 1,534 1,534 | K5y 1r—2 |
31700 ¥ 4~ 160 22,572|  1,620| 1,404 1,296 ERE 167 —2 |
31800 15 M AE 4 6,264| 6,264| 6,264 6,264 BREB  1r—= |
31950 FHAaX L 3 3,564 |  3,564| 3,564 3,564 | dtHBE @ 14 —2
31900 AX _ 15 17, 366 594 594 562 | FE VR 303 (500g) |
34300 | 727 2L 20 15, 336 5, 400 5, 400 2, 268 |REA 44— 2
34400 k= R 24 9,288 1,620 1,620 1,404 REA 67 —2 |
34400 k= R M 12 8,100| 2,700 2,700 2,700 REA 30— R
34100 K L 5 9,180| 9,180 9,180 9,180 |FEA 14 —=A |
34200 /K 20 2,376 119 119 119 | JbiEE 20kg

34500 E— L L 3 2, 268 76| 76 76 | K% 3048 |
34571 <7 U A (F) 2 1,188 19| 119 119 %E 101

34572 ST YA (&) i 2 1,620 162 162 162 | 4[] 0@ |
36200 fE#hE BL 50 7,663 1,620 1,512 1,512 dL#EE 5y —%
36210 A—2 A+ (%) L 100 14,040 1,404] 1,404 1,404 ER 106—=
36600 7-F¥nX LKk 140 16,632 2,700| 2,376 2,268 |dLiE T —2

142




1 & N it 3=
a—F ma4h S | BERR (ke) SEM) | = i 7 R (EAE)
37200 Lo oL 8 2,160 1,080 1,080 1,080 @ 94—
33400 L ¥ A . 38 8467 97 86 86 EW 96
Y3092 |~sbte— J—7 7 I 2,808 | 140|140 140 BREE 208
33600 /3L Y i 1 810 | 378 378 54| KH 34

38100 A L\ 7=t 2 2,462 130 130 130 | = 195y |
31310 |\ HTE 4 7,128 356 356 356 REVL 204 ]
31500 /MAZE ’ 12 11,988 3,996 3,996 3,996 |E S 33—z |
32500 ZIT e 2 756 59 59 32 | k% 153

37560 BB 1 1 1,728 324 324 54 | K4y Y
37600 | Zx k& 5 28 | 4 1,728 43 43 43| B 40/ 7
36400 AV H M 10 4,860  4,860| 4,860 4,860 H#% 1r—= |
38521 572 Lo LE 6 5184 119| 54 54 {EH 6055

40100 | HHA 70 11,988 2,160 2,160, 1,296 fEA TH— R
40100 BhsA 200 34,182]  1,944| 1,728 1,512 R A 2047 — A
40100 HH A L 30 5,832 1,044 1,944 1,944 B 34—
Y4005 ALY 15 7,776  7,776| 7,776 7,776 ?j;x kS 14/ —x
42000 (D AT 60 6,588 2,700| 1,944 1,944 BLF 35 — %
42133 > F J AA— h 130 21,384 1,836, 1,620 1,620 E% 134 — %
42320 VaFId—L R 10 2,808| 2,808] 2,808 2,808 ¥ = 1h—=%
Y4016 YoM 5 6 1,080 1,080 1,080 1,080 HZ Ur—z |
43000 72 L 10 5,184| 5,184| 5,184 5, 184 HEA 15—
43500 f oL 70 12,096  1,836| 1,728 1,620 /&[H T — =
Y4020 F7e LAf E E 2,160 270 270 270 Fngl  8M%

Y4020 &7 LA oL | 8 2,700 2,700 2,700 2,700 #Hi 1r—=x
49100 ST F 192 20,628 3,888 1,080 92|74 U 165 —2R
. ER ) . 2,038] 486,987 | l
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